Makc. Tok | R1 | Monoca vactot -3ab

2A 1.1kOm  14.91Ty - 30.65ky
4A 5100m  15.23Iy - 39.05«MMy
8A 2400m  15.52Iy - 43.42klMy

370 0auH kaHan RDC2-60 V
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Tpebyetca cmeHuTb C1 ¢ 0.1MkP Ha 3.3HP
WMHa4e gnanasoH yMeHbLumnTes Ao 3-6 kiu.
ag aB (aco) aB (ach)
Highpass -3dB=14.909326Hertz Highpass -3dB=15.228427Hertz Highpass -3dB=15.515409Hertz
Lowpass -3dB=30654468kHertz Lowpass -3dB=39.052668kHertz Lowpass -3dB=43 41748 1kHertz

7T+ — TR

: ’ \

dB/dB
8
‘

-30

-40

-50

2 4 10 20 40 100 200 400 1k 2k 4k 10k 20k 40k 100k 200Kk 400k
Frequency / Hertz

...\SIMetrix\Sensor.sxsch - 31.10.2023




